PRODUCT
CATALOGUE

STRAND PRECISION HARDWARE & FASTENERS
GRANITESIDE
HARARE
Email: sales.strandprecision2025@gmail.com / info@strandhardware.pro

STRAND PRECISION
HARDWARE & FASTENERS

BUILT TO HOLD. ENGINEERED TO LAST.

(] (]
Line Description
1 Méx16 8.8 H/T HEX HD SET SCREW 36 M12x150 8.8 H/T HEX HD BOLT
2 Mé6x25 8.8 H/T HEX HD SET SCREW 37|M12x160 8.8 H/T HEX HD BOLT
3 Mé6x30 8.8 H/T HEX HD SET SCREW 38|M14x50 8.8 H/T HEX HD SET SCREW
4 M6x40 8.8 H/T HEX HD SET SCREW 39|M14x60 8.8 H/T HEX HD SET SCREW
5 Mé6x50 8.8 H/T HEX HD SET SCREW 40|M14x70 8.8 H/T HEX HD SET SCREW
6 Mé6x60 8.8 H/T HEX HD SET SCREW 41|M14x80 8.8 H/T HEX HD BOLT
7 Mé6x70 8.8 H/T HEX HD SET SCREW 42|M14x100 8.8 H/T HEX HD SET SCREW
8 M6x80 8.8 H/T HEX HD SET SCREW 43|M14x120 8.8 H/T HEX HD BOLT
9 Mé6x100 8.8 H/T HEX HD SET SCREW 44|1M14x140 8.8 H/T HEX HD BOLT
10 M8x20 8.8 H/T HEX HD SET SCREW 45|M14x160 8.8 H/T HEX HD BOLT
11 M8x30 8.8 H/T HEX HD SET SCREW 46|M16x40 8.8 H/T HEX HD SET SCREW
12 M8x40 8.8 H/T HEX HD SET SCREW 47|M16x50 8.8 H/T HEX HD SET SCREW
13 M8x50 8.8 H/T HEX HD SET SCREW 48|M16x60 8.8 H/T HEX HD SET SCREW
14 M8x60 8.8 H/T HEX HD SET SCREW 49|M16x70 8.8 H/T HEX HD SET SCREW
15 M8x75 8.8 H/T HEX HD SET SCREW 50|M16x80 8.8 H/T HEX HD SET SCREW
16 M8x80 8.8 H/T HEX HD SET SCREW 51|M16x100 8.8 H/T HEX HD SET SCREW
17 M8x100 8.8 H/T HEX HD SET SCREW 52|M16x120 8.8 H/T HEX HD SET SCREW
18 M10x30 8.8 H/T HEX HD SET SCREW 53|M16x140 8.8 H/T HEX HD SET SCREW
19 M10x40 8.8 H/T HEX HD SET SCREW 54|M20x60 8.8 H/T HEX HD SET SCREW
20 M10x50 8.8 H/T HEX HD SET SCREW 55[M20x70 8.8 H/T HEX HD SET SCREW
21 M10x60 8.8 H/T HEX HD SET SCREW 56|M20x80 8.8 H/T HEX HD SET SCREW
22 M10x70 8.8 H/T HEX HD SET SCREW 57|M20x100 8.8 H/T HEX HD SET SCREW
23 M10x80 8.8 H/T HEX HD SET SCREW 58|M20x120 8.8 H/T HEX HD SET SCREW
24 M10x100 8.8 H/T HEX HD SET SCREW 59|M20x140 8.8 H/T HEX HD SET SCREW
25 M10x120 8.8 H/T HEX HD BOLT 60|M5 GR 8 H/T HEX NUT Z/P
26 M10x120 8.8 H/T HEX HD SET SCREW 61({Mé6 GR 8 H/T HEX NUT Z/P
27 M10x140 8.8 H/T HEX HD BOLT 62|M8 GR 8 H/T HEX NUT Z/P
28 M12x30 8.8 H/T HEX HD SET SCREW 63[M10 GR 8 H/T HEX NUT Z/P
29 M12x40 8.8 H/T HEX HD SET SCREW 64|M12 GR 8 H/T HEX NUT Z/P
30 M12x50 8.8 H/T HEX HD SET SCREW 65(M14 GR 8 H/T HEX NUT Z/P
31 M12x60 8.8 H/T HEX HD SET SCREW 66|M16 GR 8 H/T HEX NUT Z/P
32 M12x70 8.8 H/T HEX HD SET SCREW 67(M20 GR 8 H/T HEX NUT Z/P
33 M12x80 8.8 H/T HEX HD SET SCREW 68[Mé6 NYLOC HEX NUT PITCH 1.00
34 M12x100 8.8 H/T HEX HD SET SCREW 69|M8 NYLOC HEX NUT PITCH 1.25
35 M12x120 8.8 H/T HEX HD SET SCREW 70[M10 NYLOC HEX NUT PITCH 1.50




PRODUCT

CATALOGUE
M12 NYLOC HEX NUT PITCH 1.75 1211M16 CLOSED HUB WASHER
M14 NYLOC HEX NUT PITCH 2.00 122|M12X1.5X60 MF BOLT

M16 NYLOC HEX NUT PITCH 2.00

123

M12X1.5X70 MF BOLT

M20 NYLOC HEX NUT PITCH 2.50

124

M12X1.5X80 MF BOLT

M8 BLACK FLAT WASHER

125

MT14X1.5X50 MF BOLT

M10 BLACK FLAT WASHER

126

MT14X1.5X60 MF BOLT

M12 BLACK FLAT WASHER

127

MT14X1.5X70 MF BOLT

M16 BLACK FLAT WASHER

128

M14X1.5X100 MF BOLT

M20 BLACK FLAT WASHER

129

MT6X1.5X50 MF BOLT

AAK12 COPPER WASHERS

130

MT6X1.5X60 MF BOLT

AAK16 LARGE GREASE NIPPLES

131

M16X1.5X80 MF BOLT

AAK13 FIBRE WASHERS

132

M16X1.5X120 MF BOLT

HAK20 DRYWALL SCREWS

133

MB8X1X25 MF SET

AAK30 EXTERNAL CIRCLIPS

134

MB8X1X30 MF SET

AAK18 GRUB SCREWS

135

M16X1.5 MF NUT

AAK32 O RING 407 PCS

136

M14X1.5 MF NUT

AAKO? LARGE SPLIT PINS

137

M12X1.5 MF NUT

HAKO3 PAN COMBI SELF TAPPERS

138

M12X1.25 MF NUT

AAKT1T EXHAUST STUDS & NUTS

139

M8X1 MF NUT

AAK29 INTERNAL CIRCLIPS 140|M10X150 CENTRE BOLT
AAK45 PROPSHAFT BOLT 14117/16X6 CENTRE BOLT
M12X1.5X42 14SP WHEEL STUDS 1427/16X12 CENTRE BOLT
M12X1.5X55 14SP WHEEL STUDS 143|M12X150 CENTRE BOLT
M12X1.5X41 12SP WHEEL STUDS 144|M12X300 CENTRE BOLT
M12X1.5X39 14SP WHEEL STUDS 145|M14X300 CENTRE BOLT
M12X1.25X42 13SP WHEEL STUDS 146|M16X300 CENTRE BOLT

M12X1.25X39 13SP WHEEL STUDS

147

NISSAN E20 U BOLT

M12X1.5 21HEX OPEN CONICAL

148

TOYOTA HILUX IMPORT U BOLT

M12X1.25 19HEX OPEN

149

FORD COURIER U BOLT

M12X1.5 21HEX SHORT MAG

M12X1.25 19HEX SHORT MAG

M12X1.5 21HEX LONG MAG

M12X1.25 2THEX LONG MAG

M12X1.5 SECURITY WHEEL LOCK

M12X1.25 SECURITY WHEEL

o~

M5 WING NUTS

~N

M8 WING NUTS

(03}

M10 WING NUTS

O

M12 WING NUTS

M6X1 BANJO BOLT

M8X1 BANJO BOLT

M10X1 BANJO BOLT

M12X1.5 BANJO BOLT

M14X1.5 BANJO BOLT

M16X1.5 BANJO BOLT

M12 OPEN HUB WASHER

M12 CLOSED HUB WASHER

M14 OPEN HUB WASHER

V||V B|WIN|—|O

M14 CLOSED HUB WASHER

=== |=|===[=]=]|=]c|o|o|o

o

M16 OPEN HUB WASHER




